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VAR��s{�

i�sI stI b�$�� B}��s�$BtR $t I$R��$AZ��I BA`�{�R Ys%� ��sI$�$Btsjjk A��t �-}BR�I �B t��bB�, js��t{$�R� qY$R

��RZj�R $t RZ{Y $t%B{s�$BtR A�$t� �-}�tR$%� $t {sR�R bY��� t��bB�, js��t{$�R s�� Y$�Y� q�8}B�sj jB{sj$�k YsR A��t

�-}jB$��I $t R�%��sj }�BIZ{�R �Y�BZ�Y �Y� ZR� BP BA`�{� 8BA$j$�k �B s{Y$�%� ��sI stI b�$�� �$8� ��IZ{�$Bt�  Z�

RZ{Y st s}}�Bs{Y Y$t��R js��t{k ��IZ{�$Bt PB� AB�Y ��sIR stI b�$��R Bt ��8}B�sj jB{sj$�k�

G� R�ZI$�I �Y� ��}j${s�$Bt stI {s{Y$t� R��s���k �8}jBk�I Ak R�%��sj I$R��$AZ��I RYs��I 8�8B�$�R stI $8T

}j�8�t��I $� ZR$t� qY� ]B88Bt !A`�{� i�JZ�R�  �B,�� V�{Y$��{�Z�� w]!i VD� s {Bt��8}B�s�k I$R��$AZ��I

BA`�{� RkR��8� qB���Y�� b$�Y s %s�$st� BP ��js-�I {BtR$R��t{k }�B}���k� bY${Y �tRZ��R �Y� {B���{�t�RR BP }�B��s8

�-�{Z�$Bt $t �Y� }��R�t{� BP BA`�{� ��}j${sR� stI s Ikts8${ R�8$TI$R��$AZ��I 8sts��� Bbt��RY$} R{Y�8�� bY${Y

�tPB�{�R �Y� R$t�j�Tb�$��� {BtR��s$t� stI Y�t{� b�$�� R��$sj$9s�$Bt� �Y� R��s���k �j$8$ts��R �Y� I�}�tI�t{k BP ��sI

js��t{k ��IZ{�$Bt Bt ��8}B�sj jB{sj$�k� y� sjRB RY$�jIR ��sI �$8�R P�B8 �Y� �&�{� BP P��JZ�t� ��8B�� b�$��R� �s{Y

BP bY${Y ��$����R s jB{sj R�s�� Z}Is���

G�$�� js��t{k ��IZ{�$Bt $R I�}�tI�t� Bt �Y� }�B}���k BP ��8}B�sj jB{sj$�k�  Z� ��RZj�R BA�s$t�I RYBb �Ys�

s R8sjj tZ8A�� BP tBI�R� {BZ}j�I b$�Y s R8sjj w$t%B{s�$Bt $t���%sj\t��bB�, js��t{kD �s�$B� {BZjI }�BIZ{� �Y�

Rs8� �&�{� $t �Y� sAR�t{� BP �Y� }�B}���k� 3Z��Y��� s R8sjj �s�$B BP $t%B{s�$Bt $t���%sjR sjRB Y�j}R ��IZ{� b�$��

js��t{$�R �-}��$�t{�I Ak tBI�R b$�Y RYB���� $t���%sjR�

��kbB�IRU js��t{k� I$R��$AZ��I BA`�{�R� ��}j${s�$Bt� {s{Y$t�� {BtR$R��t{k

� �������	�
��

i�sI stI b�$�� B}��s�$BtR $t I$R��$AZ��I BA`�{�R Ys%� ��sI$�$Btsjjk A��t �-}BR�I �B t��bB�, js��t{$�R� ��RZj�$t� $t

RZ{Y $t%B{s�$BtR A�$t� �-}�tR$%� $t {sR�R bY��� t��bB�, js��t{$�R s�� Y$�Y� yt I$R��$AZ��I RYs��I 8�8B�k RkR��8R�

s }��I�{�RRB� BP I$R��$AZ��I BA`�{�R� ��}j${s�$Bt stI {s{Y$t� Ys%� A��t ZR�I �B �s,� sI%st�s�� BP ��8}B�sj jB{sj$�kd

�B A�$t� Is�s {jBR� �B $tI$%$IZsj tBI�R bY��� $� $R ZR�I� �Y���Ak RY$�jI$t� �Y� tBI�R P�B8 Y$�Y Is�s s{{�RR js��t{$�R�

7Z{Y s}}�Bs{Y�R� YBb�%��� s�� tB� {B88Bt
1
$t {Bt��8}B�s�k I$R��$AZ��I BA`�{� RkR��8R

n
� qY� 8BA$j� BA`�{�

dqY� }�B}���k BP s RkR��8 $t bY${Y ��{�t�jk s{{�RR�I $��8R ��tI �B A� s{{�RR�I s�s$t $t �Y� t�s� PZ�Z���
1i�}j${s�$Bt sjBt� $R {B88Bt $t I$R��$AZ��I RkR��8R� $t{jZI$t� I$R��$AZ��I BA`�{�R� y� $R ZR�I }�$8s�$jk �B s{Y$�%� PsZj�T�Bj��st{��

stI RB8��$8�R sjRB jBsITAsjst{$t� >1dH� e-s8}j�R $t{jZI� yR$R� <B�ZR� etR�8Aj�� �s�R��B >E� ;� n� x� nn� d;H stI N��$Bt >dnH ��{�  Z�

YBb �Y� }��R�t{� BP AB�Y ��}j${s�$Bt stI {s{Y$t� 8$�Y� s&�{� ��sI stI b�$�� js��t{$�R $t I$R��$AZ��I BA`�{�R� stI �Y� {B���R}BtI$t�

}��PB�8st{� {Ys�s{���$R�${R $t ���8R BP ��sI stI b�$�� �$8�R Ys%� js���jk tB� ��{�$%�I {B%��s���

n
]!i V >1;� 1MH� *]!� >1(� d�H stI Fs%s >d1H ��{�

d



s}}�Bs{Y >1dH YsR $tR��sI A��t sIB}��I Ak R�%��sj }�BIZ{�R �B �tsAj� PsR� ��}��$�$%� $t%B{s�$BtR� qYBZ�Y �&�{�$%�

$t �tsAj$t� jBb js��t{k ��}��$�$%� ��sIR stI b�$��R� �Y$R 8��YBI ��j$�R Y�s%$jk Bt �Y� }�B}���k BP ��8}B�sj jB{sj$�k

BP s}}j${s�$BtR� qY� sAR�t{� BP �Y� }�B}���k b$jj ��RZj� $t AB�Y BP �Y�8 A�$t� Zts{Y$�%sAj��

G� I�R$�t�I stI $8}j�8�t��I st s�{Y$��{�Z�� AsR�I Bt �Y� I$R��$AZ��I RYs��I 8�8B�k s}}�Bs{Y�R �Ys� tB� Btjk

}�B%$I�R jBb js��t{k ��sIR stI b�$��R� AZ� sjRB �j$8$ts��R �Y� I�}�tI�t{k BP PsR��� ��sIR Bt �Y� }�B}���k BP ��8}B�sj

jB{sj$�k� qY� ��RZj�R BA�s$t�I RYBb �Ys� bY$j� �Y� �$8� �s,�t �B }��PB�8 s b�$�� B}��s�$Bt %s�$�R I�}�tI$t� Bt YBb

P��JZ�t� $� $R �-�{Z��I stI Bt �Y� tZ8A�� BP {Bt{Z���t� b�$��R� ��sIR I�8BtR��s�� s {BtR$R��t� A�Ys%$B� b$�Y s

��js�$%�jk {BtR�st� jBb $t%B{s�$Bt �$8�� ���s�Ij�RR BP �Y� P��JZ�t{k BP jB{sj R�s�� Z}Is��R $tIZ{�I Ak ��8B�� b�$��R�

Vt $88�I$s�� s}}j${s�$Bt s��s BP RZ{Y st s�{Y$��{�Z�� $R �Y� $8}j�8�t�s�$Bt BP st BA`�{�TAsR�I I$R��$AZ��I RYs��I

8�8B�k w*7�D RkR��8 �Ys� Z�$j$9�R {Bt��8}B�s�k I$R��$AZ��I BA`�{�R� V tZ8A�� BP ��R�s�{Y }�B`�{�R Ys%� A��t

{BtIZ{��I �B I$R{B%�� bskR BP ��IZ{$t� �Y� js��t{k BP 8�8B�k B}��s�$BtR >1� dd� d(� 1�H stI $8}�B%$t� �Y� Y����BT

��t�$�k RZ}}B�� >nE� �� nxH BP �Y$R ��BZ} BP RkR��8R� ��8B�k js��t{k ��IZ{�$Bt $R 8s$tjk s{Y$�%�I �Y�BZ�Y ��js-�I

8�8B�k {BtR$R��t{k 8BI�jR� bY${Y �-}jB$� �Y� }BRR$A$j$�k BP ��B�I��$t� BP 8�8B�k B}��s�$BtR stI �Y� ��js-s�$Bt BP

�Y� b�$�� s�B8${$�k ��JZ$��8�t�� bY$j� R�$jj 8s$t�s$t$t� �Y� {B���{�t�RR BP }�B��s8 �-�{Z�$Bt� <����B��t�$�k RZ}}B��

$8}�B%�8�t�� Bt �Y� B�Y�� YstI� I�sjR b$�Y �Y� $t���B}��sA$j$�k BP I$&���t� Ys�Ibs��� bY${Y 8sk Ys%� I$R�$t{� Is�s

PB�8s�R stI ��stZjs�$�$�R� �B �tRZ�� �Ys� �Y�k {st PZt{�$Bt �B���Y�� sR s R$t�j� *7� RkR��8�

7B8� ��R�s�{Y YsR A��t IBt� �B $t����s�� �Y� �bB }�B}���$�R �B���Y��� sR $t ���8s$I >nEH� V�B�s >�H stI Fs%s\*7�

>nxH� V8Bt� �Y�R� RkR��8R� Fs%s\*7� s}}�s�R �B A� �Y� 8BR� }�B8$R$t� IZ� �B $�R sII$�$Btsj {s}sA$j$�k BP RY$�jI$t�

Ys�Ibs�� I$&���t{�R P�B8 }�B��s88��R� <Bb�%��� �YBZ�Y $� }�B%$I�R R�s8j�RR Y����B��t�$�k RZ}}B�� �Y�BZ�Y �Y�

ZR� BP YB8B��t�BZR Fs%s BA`�{�R� $� $R AZ$j� Bt �Y� PBZtIs�$Bt BP s Ys�Ibs�� I�}�tI�t� }s��TAsR�I *7� RkR��8�

q��sI�s�,R >dEH�

!t� BP �Y� 8s$t ��sRBtR �Ys� j�I �B �Y� ZR� BP q��sI�s�,R� $tR��sI BP i�y
;
� $t Fs%s\*7� $R �Ys� �Y� PB�8�� B&��R

AZ$j�T$t ��}j${s�$Bt stI {s{Y$t� {s}sA$j$�$�R bY${Y ��IZ{� js��t{$�R BP 8��YBI $t%B{s�$BtR Bt ��8B�� BA`�{�R�  k

$t����s�$t� �Y�R� {s}sA$j$�$�R $t�B I$R��$AZ��I BA`�{�R� b� �j$8$ts�� �Y� ��j$st{� Bt s j�RR b$I�jk RZ}}B���I ZtI��jk$t�

*7� $tP�sR��Z{�Z��� V� �Y� Rs8� �$8�� �Y$R s}}�Bs{Y Zt$h�R �Y� ��}��R�t�s�$Bt BP 8�8B�k jB{s�$BtR� B� Is�s $��8R�

stI �Y� 8�{Yst$R8 ZR�I �B 8s$t�s$t ��}j${s {BtR$R��t{k� $8}j�8�t�$t� AB�Y BP �Y�8 $t I$R��$AZ��I BA`�{�R� GY$j�

$� IB�R tB� t�{�RRs�$jk j�sI �B s Y$�Y�� I����� BP R$8}j${$�k� $� IB�R Y�j} ��IZ{� �Y� 8s$t��tst{� �&B�� ��JZ$��I stI

�tYst{� }B��sA$j$�k� R$t{� �Y��� $R Btjk s R$t�j� I$R��$AZ��I BA`�{� $tP�sR��Z{�Z�� �B �s,� {s�� BP� stI $� ��t��sjjk

�-Y$A$�R Zt$PB�8$�k $t Is�s ��}��R�t�s�$Bt stI }�B��s88$t� $t���Ps{� Bt I$&���t� }js�PB�8R�

qY� R�{�$BtR �Ys� PBjjBb }�B%$I� s I$R{ZRR$Bt Bt �Y� ��js��I bB�,� s 8B�� I��s$j�I I�R{�$}�$Bt BP BZ� s�{Y$��{�Z��� sR

b�jj sR $�R {BtR$R��t{k }�B}���$�R stI }�B�B{BjR� qY� Ikts8${ R�8$TI$R��$AZ��I 8sts��� Bbt��RY$} R{Y�8� sIs}��I

P�B8 �Y� }s��TAsR�I *7�� y%k� $R �Y�t }��R�t��I� qY�R� s�� PBjjBb�I Ak ��RZj�R RYBb$t� �Y� ��sI stI b�$�� }��T

PB�8st{� BP �Y� s�{Y$��{�Z��� V I$R{ZRR$Bt R�{�$Bt �Y�t �-}jB��R PZ��Y�� �Y� }BRR$Aj� }��PB�8st{� �tYst{�8�t�

��{Yt$JZ�R�

� �
���
� ����

<��� b� {B%�� ��js��I bB�, $t �Y� h�jIR BP I$R��$AZ��I BA`�{�R� PsZj�T�Bj��st� I$R��$AZ��I RkR��8R stI BA`�{�TAsR�I

*7�R� qY�R� $t{jZI� �Y� ��{�t� I$R��$AZ��I BA`�{� }�BIZ{� zBks���� PsZj�T�Bj��st� I$R��$AZ��I RkR��8 �s�R��B�

BA`�{�TAsR�I *7�R N$tIs� !�{s stI Fs%s\*7�� stI s ]!i VT{B8}j$st� BA`�{� {s{Y$t� RkR��8 3j�-�

��� �����
�

zBks��� >1x� 1EH P�B8 !A`�{�7}s{� ZR�R �Y� 8BA$j� BA`�{� s}}�Bs{Y >1dH �B ��IZ{� BA`�{� 8��YBI $t%B{s�$Bt �$8�R�

B� ��sI stI b�$�� js��t{$�R b� ��P�� �B $t BZ� bB�,� V Zt$JZ� BA`�{� 8sk A� ��stRP����I �B s jB{s�$Bt {jBR� �B

s {j$�t� Z}Bt ��JZ�R�� VR �Y� t��bB�, I$R�st{� A��b��t �Y� BA`�{� stI �Y� {j$�t� $R ��IZ{�I� RZAR�JZ�t� 8��YBI

$t%B{s�$BtR {BtRZ8� j�RR �$8�� FZ8}$t� �stR >dH P�B8 VI VR��s et�$t���$t� �8}jBkR �Y� Rs8� ��{Yt$JZ� �B s{Y$�%�

�Y� BA`�{�$%��  Z� PB� �Y$R s}}�Bs{Y �B A� �&�{�$%� $t ��IZ{$t� �Y� B%��sjj $t%B{s�$Bt �$8�� 8��YBI $t%B{s�$BtR Bt

�Y� BA`�{� t��I �B �-Y$A$� �Y� }�B}���k BP ��8}B�sj jB{sj$�k� qYs� $R� �Y� {sjjR P�B8 �Y� {j$�t� Bt �Y� Rs8� BA`�{�

;
qY� i�8B�� ���YBI yt%B{s�$Bt BP Fs%s

1



t��I �B A� 8sI� $t �Y� t�s� PZ�Z��� !�Y��b$R�� stB�Y�� {j$�t� 8$�Y� ��JZ�R� �Y� BA`�{� �B A� ��stRP����I �jR�bY����

stI �Y� t�-� $t%B{s�$Bt Ak �Y$R {j$�t� Bt �Y� Rs8� BA`�{� b$jj Ys%� �B ��$���� �Y� ��stRP�� }�B{�RR s�s$t� stI �YZR

b$jj tB� BAR��%� �$8� ��IZ{�$Bt� qY$R s}}j$�R �B AB�Y ��sI stI b�$�� $t%B{s�$BtR� qY� ZR� BP ��}j${s�$Bt stI {s{Y$t�

$t BZ� s�{Y$��{�Z�� �j$8$ts��R �Y$R t�{�RR$�k PB� ��sI B}��s�$BtR� sR �Y� ��}j${s {s{Y�I jB{sjjk $R sAj� �B R��%� ��sI

��JZ�R�R b$�YBZ� 8s,$t� s ��8B�� {sjj�

zBks��� YsR s R$8$js� Ps{$j$�k AsR�I Bt ��}j${s�$Bt stI {s{Y$t�� yt $�R $8}j�8�t�s�$Bt BP ��BZ} {B88Zt${s�$BtR�

BA`�{�R $t �Y� RkR��8 ��R$I� $t s jB�${sj R}s{�� V R}s{� $R {B8}BR�I BP RZAR}s{�R� �s{Y BP bY${Y ��R$I�R $t s tBI��

!A`�{�R 8sk A� ��}j${s��I stI {s{Y�I $t I$&���t� RZAR}s{�R� es{Y RZAR}s{� 8sk Ys%� s 8Zj�${sR� }�B-k
x
�Ys� R��%�R

sR st �t��k }B$t� PB� �Y� I$RR�8$ts�$Bt BP $t%B{s�$Bt ��JZ�R�R �B ��}j${sR $t �Y� R}s{�� V }�B}s�s�$Bt 8��YBI $R ZR�I

�B 8Zj�${sR� �Y� ��JZ�R�R� b$�Y �s{Y RZAR}s{� }�B}s�s�$t� �Y� ��JZ�R�R �Ys� $� ��{�$%�R �B t�$�YAB�$t� RZAR}s{�R�

bY${Y s�� {Btt�{��I �Y�BZ�Y �Y� �-}j${$� $t%B{s�$Bt BP s zBks���TR}�{$h{ PZt{�$Bt
E
� qY$R Ps{$j$�k Y�j}R �B ��IZ{�

8��YBI $t%B{s�$Bt �$8�R� <Bb�%��� $� IB�R tB� }��R��%� �Y� B�I�� BP ��JZ�R�R� i�}j${sR $t I$&���t� RZAR}s{�R IB tB�

sjbskR ��{�$%� 8Zj�${sR� 8�RRs��R $t �Y� Rs8� B�I��� 3Z��Y��� �Y� B�I�� BP 8�RRs��R ��{�$%�I Ak ��}j${sR 8sk tB�

8s�{Y �Y� B�I�� $t bY${Y �Y�k b��� R�t�� qY�R� ��RZj� $t ��}j${sR $t I$&���t� RZAR}s{�R tB� t�{�RRs�$jk R�sA$j$9� s�

�Y� 8BR� ��{�t� R�s��R� yt BZ� s�{Y$��{�Z��� b� sII�I �$8�TR�s8}R stI st Bbt��RY$} R{Y�8� �B �tRZ�� �Y� BAR��%st{�

BP �Y� Rs8� �-�{Z�$Bt B�I�� s8Bt� ��}j${sR� stI �Y� }��R��%s�$Bt BP }�B��s8 B�I�� s8Bt� b�$��R� �B s{Y$�%� �Y�

{BtR$R��t� R�sA$j$9s�$Bt BP ��}j${s R�s��R�

��� ��
����

�s�R��B >n;H� �YBZ�Y I�%�jB}�I }�$8s�$jk �B sRR$R� �Y� PsZj�T�Bj��st{� ��R�s�{Y >E� MH $t ]B�t�jj =t$%��R$�k stI

tB� $t��tI�I �B B&�� jBb js��t{k 8��YBI $t%B{s�$BtR� $R I$R{ZRR�I Y��� IZ� �B �Y� ��R�8Ajst{� A��b��t $�R BA`�{�

��}j${s�$Bt s}}�Bs{Y stI BZ� ��}j${s�$Bt stI {s{Y$t� R��s���k� !A`�{� ��}j${s�$Bt $t �s�R��B $R IBt� AsR�I Bt �Y�

{Bt{�}� BP s{�$%� ��}j${s�$Bt >;H� qB�sjjk B�I���I 8Zj�${sR�R $R ZR�I �B �tRZ�� sjj ��}j${sR b$�Y$t �Y� Rs8� <B�ZR >nnH
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